
· ec G = (AB
,
E).

· NASI /1 , for all XCA (1)

· a has matching M
,
with (M1 =A) (2)

show () => (2) using induction on a = 1A)

· a =1 (I . B .)
· () = (2) for some 1A1-aw (I . It .)
· show (1) => (2) for as 1 (I . S.)

· we know () holds.

we'd like to remove rea
,
without destroyingG)

· either EXA : (N(X)) > IX) or (1)

7% A : IN(Xo)) = NXol (CL)

· (1) : choose arbitrary By , remove

now (1) holds and (I. H .) => exists M.

add e to M.

splot graph in two smaller and apply I . H .

twice

· (C2) : C = G(XoAN(Xel] ,
G" = GLALXo BINCXo]

clearly (1) holds in a

what about in a" ? let XCALX , show INC)12I.

(x1 +(x) = 1xuxo IN(XuXo)) = (N(Xd)) + 1N(X)\N(Xd)
IN(Xo)) = (ol
c=) |x / < (NC)(NIXo)) = 1N(X)

-

EBINIXols eB n NIXd

use (I . H. ) on G and a
"

let M = l'uM" in G
,
Mi = Al~


